USA
PRODUCT
CATALOG
2025





MAKE COMPOSTING SECOND NATURE. OUR MISSION IS TO DRIVE ORGANIC WASTE SEPARATION BY PROVIDING CERTIFIED COMPOSTABLE FILM PRODUCTS AND EDUCATION TO EVERY INDIVIDUAL AND COMPANY THAT CONSUMES, SELLS, OR PROCESSES FOOD.

FOOD MAKES UP 24% OF WASTE SENT TO LANDFILLS.

ECOSAFE® COMPOSTABLE BAGS ARE
CRAFTED FROM A BLEND OF PLANT-BASED
MATERIALS AND INNOVATIVE COMPOSTABLE
POLYMERS, GIVING THEM THE STRENGTH
AND DURABILITY TO MAKE COLLECTING
FOOD WASTE EASY AND MESS-FREE.







16x17"
Compostable Bag/Liner
HB1617-86
Pictured in EcoSafe®
Kitchen Caddy



Pictured in Standard 5-Gallon Pail



16x17" Compostable Bag/Liner - Club Pack

Fits CPD-1 Dispenser



CP1617

 $16x17"\,Compostable\,Bag/Liner\,-\,MultiRes \circledR$ 

Fits MFRD-1 Dispenser



HR1617-6

PRODUCT CODE	DESCRIPTION	SIZE (IN)	CAPACITY (gal / L)	MIL	BAGS/ UNIT	UNITS/ CASE	BAGS/ CASE
HB1617-6	16x17" Compostable Bag/Liner	16x17	2.5/9.5	0.6	30/Roll	24	720
HR1617-6	16x17" Compostable Bag/Liner - MultiRes®	16x17	2.5/9.5	0.6	325/Roll	4	1300
CP1617-6	16x17" Compostable Bag/Liner - Club Pack	16x17	2.5/9.5	0.6	90/Box	10	900
HB1825-6	18.25x25" Compostable Bag/Liner	18.25x25	7/26	0.6	12/Roll	40	480









21x25" Compostable Bag/Liner HB2125-6

Pictured in EcoSafe® EcoCaddy

26x36"
Compostable Bag/liner
HB2636-8
Pictured in EcoSafe®

Pictured in EcoSafe® Curbside Cart



28x44" Compostable Bag/Liner HB2844-8

ECSSAFE

EcoSafe® EcoStation

#### 20x22" Compostable Bag/Liner



HB2022-6

24x32" Compostable Bag/Liner



HB2432-6

PRODUCT CODE	DESCRIPTION	SIZE (IN)	CAPACITY (gal / L)	MIL	BAGS/ ROLL	ROLLS/ CASE	BAGS/ CASE
HB2022-6	20x22" Compostable Bag/Liner	20x22	7/26	0.6	25	24	600
HB2125-6	21x25" Compostable Bag/Liner	21x25	8/30	0.6	12	40	480
HB2432-6	24x32" Compostable Bag/Liner	24x32	13/49	0.6	12	24	288
HB2636-8	26x36" Compostable Bag/Liner	26x36	20/76	8.0	15	11	165
HB2844-8	28x44" Compostable Bag/Liner	28x44	35/132	0.8	15	9	135









30x39" Compostable Bag/Liner HB3039-8 and HB3039-11

Pictured in Rubbermaid Vented Slim Jim 16G

35x50" Compostable Bag/Liner HB3550-85

Pictured in Rubbermaid Vented Brute 44G



#### 30x42" Compostable Bag/Liner



HB3042-8

#### 33x39" Compostable Bag/Liner



HB3339-85

#### 33x48" Compostable Bag/Liner



HB3348-85

PRODUCT CODE	DESCRIPTION	SIZE (IN)	CAPACITY (gal / L)	MIL	BAGS/ ROLL	ROLLS/ CASE	BAGS/ CASE
HB3039-85	30x39" Compostable Bag/Liner	30x39	30/114	8.0	15	9	135
HB3039-11	30x39" Compostable Bag/Liner - Extra Strong	30x39	30/114	1.1	12	8	96
HB3042-8	30x42" Compostable Bag/Liner	30x42	35/132	0.85	15	9	135
HB3339-85	33x39" Compostable Bag/Liner	33x39	35/132	0.85	15	9	135
HB3348-85	33x48" Compostable Bag/Liner	33x48	39/148	0.85	15	6	90
HB3550-85	35x50" Compostable Bag/Liner	35x50	45/170	0.85	15	6	90





# EXTRA LARGE COMPOSTABLE BAGS

39x55" Compostable Bag/Liner HB3955-85

Pictured in 48 Gallon Toter





48x60" Compostable Bag/Liner HB4860-85

Pictured in 64 Gallon Toter

42x48" Compostable Bag/Liner



HB4248-85





HB4260-85

44x60" Compostable Bag/Liner



HB4460-85

54x60" Compostable Bag/Liner



HB5460-85

#### 82x70" Compostable Bag/Liner



HB8270-12

PRODUCT CODE	DESCRIPTION	SIZE (IN)	CAPACITY (gal / L)	MIL	BAGS/ ROLL	ROLLS/ CASE	BAGS/ CASE
HB3955-85	39x55" Compostable Bag/Liner	39x55	48/182	0.85	10	8	80
HB4248-85	42x48" Compostable Bag/Liner	42x48	55/208	0.85	10	8	80
HB4260-85	42x60" Compostable Bag/Liner	42x60	64/242	0.85	10	6	60
HB4460-85	44x60" Compostable Bag/Liner	44x60	64/242	0.85	10	6	60
HB4860-85	48x60" Compostable Bag/Liner	48x60	64/242	0.85	10	6	60
HB5460-85	54x60" Compostable Bag/Liner	54x60	90/341	0.85	10	6	60
HB8270-12	82x70" Compostable Bag/Liner	82x70	3/4 Yd	1.2	n/a	n/a	25









PRODUCT CODE	DESCRIPTION	SIZE (IN)	CAPACITY (gal / L)	COLORS	MIN ORDER	BINS/ PALLET
KCGRN	Kitchen Caddy Bin - Small	9x9x11	2.4/7	Green, Black	24	432
ECGRN	EcoCaddy Bin - Medium	16x13x16	6/23	Green, Black	6	96
CCGRN	Curbside Cart - Tall - w/ Animal Latch	16x21x31	13/49	Green	2	78
ESTN23	EcoStation Bin (single bin)	11x21x30	23/87	Grey	1	96



# Compostable Checkout Bag Standard Size

TB1920-85 and TB1920-10
\*Fits in Kitchen Caddy (KCGRN)

16x19" Compostable Produce Bag PCK1619-6 \*Fits in Kitchen Caddy (KCGRN)



# Compostable Checkout Bag - Small

(Special Order)



TB1620-85

### 12x19" Compostable Produce Bag



PCK1219-6

PRODUCT CODE	DESCRIPTION	SIZE (IN)	CAPACITY (lbs)	MIL	BAGS/ PACK	PACKS/ CASE	BAGS/ CASE
TB1620-85	Compostable Checkout Bag - Small (Special Order)	10x20x6.5	15	0.85	50	10	500
TB1920-85	Compostable Checkout Bag - Standard Size	12x20x7	15	0.85	50	10	500
TB1920-10	Compostable Checkout Bag - Standard Size - Extra Strong	12x20x7	20	1.0	50	10	500

PRODUCT CODE	DESCRIPTION	SIZE (IN)	MIL	BAGS/ ROLL	ROLLS/ CASE	BAGS/ CASE
PCK1219-6	12x19" Compostable Produce Bag	12x19	0.6	400	4	1600
PCK1619	16x19" Compostable Produce Bag	16x19	0.6	275	4	1100





# **FOOD PREPARATION**





Food grade certified



**Powder free fit** 

Compostable Food Prep Glove



Compostable Fold Top Sandwich Bag FTS-18R

SiZE (IN)	: 5.5x6.5
MIL	: 1.8
BAGS/BOX	: 100
BOXES/CASE	: 12
BAGS/CASE	: 1200

PRODUCT CODE	DESCRIPTION	PALM WIDTH (IN)	GLOVES/ BOX	BOXES/ CASE	GLOVES/ CASE
CBG100	Compostable Food Prep Glove - Small	3.25	200	4	800
CBG200	Compostable Food Prep Glove - Medium	3.75	200	4	800
CBG300	Compostable Food Prep Glove - Large	4.25	200	4	800
CBG400	Compostable Food Prep Glove - Extra Large (Special Order)	4.75	200	4	800





# **LAWN & LEAF**



Compostable Lawn & Leaf Bag CNW-LT3936



Compostable Lawn & Leaf Tarp CNW-LT7272



Made from 100% annually renewable materials



Breathable to dry out contents and remain strong

PRODUCT CODE	DESCRIPTION	SIZE (IN)	BAGS/ CASE
CNW-LT7272	Compostable Lawn & Leaf Tarp	72x72	12
CNW-LB3936	Compostable Lawn & Leaf Bag	39x36	40





# **FOOD SCRAPS COLLECTION GUIDES**

ECOSAFE OFFERS STEP-BY-STEP-GUIDES TO SET UP A SUCCESSFUL COMPOST STREAM IN YOUR BUILDING.

DOWNLOAD YOURS FOR FREE TODAY.



WWW.ECOSAFE.GREEN/DOWNLOADS







Compostable Bag Dispenser - MultiRes® MFRD-1 \*for HR1617-6











# **CONTACT US TODAY**

**GARY BILBRO**Director of Sales - USA

- gary@ecosafezerowaste.com
- **PH** · 1-336-416-3156







**ZOE CLARK**Regional Sales Manager Western USA

- zoe@ecosafezerowaste.com
- **OPH** · 1-407-256-6726



## **ORDER DESK**

- 1-855-495-4959
- Info@ecosafe.green
- **Output** Unit 103- 3475 194th Street, Surrey, BC V3S0L5

**WWW.ECOSAFE.GREEN**